
emission are from residential and commercial users – primarily from heating and  

electricity use.  

5. Agricultural practices must be improved to use fewer fertilizers, less industrial  production 

of beef, and better sustainable agricultural practices such as sustainable crop  rotation and 

reduced tilling of the soil (which releases carbon). 9% of greenhouse gas  emissions were 

from agriculture.  

6. Land Use and Forestry – cutting down trees not only releases the carbon stored in that  tree 

and in the soil, but also prevents that tree from taking carbon dioxide out of the  

atmosphere during the course of its life. Sustainable forestry and land use lead to carbon  

dioxide being taken out of the atmosphere. 
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